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15. ‘Galaxy' s ane «(femn -
A, 3Ty B. sl C. s D. Mafam
16. ‘cfE® @W SR Wity
A.orwa® B, guene 8 C, f=ER D. vwan

17. Translate into English: %7 &1 exs «ife wOlaer oo |
7" A. Look! The water is deep here.
A B. Notice! The water is deep there,
C. The water is deep there.
D. Remember! The water is deep there.

18. worael W Trure Hren (T «rwe

A, weff B. 1 C. wnp~ D.qf®
19. fagss comfd afers e '
A. (T B. fuw~ C.ow D. g=

20). fare cerefd feaiheacaa Bveas?
’ﬂA.W:ﬂﬂH B. #if > ffifs C. wf*t > Wi D, & > 5@

21, The term ACARS is related to:

A. Airplane B, Space Shuttle,  C. Ship ~ D. Bank
22. Which is the tributary of the river Padma?
A. Kopotaksha B, Tangon C. Korotoa D. Punarvaba

for the bank.
B. a liability
D. None of these

24, In which year, International Court of Justice was
established?

23, Account holder deposit is
A. an income
C. an assel

1949 B, 1947 C. 1945~ D. 1943
Who is the President of European Central Bank?
. Christine Lagarde B. Kristalina -

C. David Malpass D. Von der Leyen

26. Which of the following is the largest size in the ljst?
A.G:gub?fte B. Zettabyte (. Petabyte A Terabyte

Recruitmoent Test 2020

(ST A) Marks: 100
2 N eolonomy’ 18 associnted with

H pn:un eCOnuIMmy

. blue economy

A environmental economy
( ecologieal eeonomy

D8 What Is the capital of Hebei |1nn.|nu:‘l’
¥ A Wuhan I Shijishuang € Gulyang

20, 'Mujib Year' has been decided to be celebrated jointly

with

A TRCICA B. UNICEI C. UNESCO

@ Name of the Kobe Bryant's team was =
K. Los Angeles Clippers B. Los Angeles Lakers

C. Boston Celtics D. Chicago Bulls

31. The word 'Robot’ comes from 'Robota’ meaning:
A. Artificial intelligence B. Forced labor
', Machine under command . Helping hand

). Nanning

D ISESCO

12, Stephen Hawking was Director of research ql the
<A. National Acronautics and Space Administration

B. National Institute of Standards and Technology

C. Royal Institute for Theory and Space

D. Centre for Theoretical Cosmology

31. The currency museum of Bangladesh was established in

the year
A, 1997 ,B 2008 C. 2009

34. The full meaning of "BEFTN" is:
A. Bangladesh Environmental Funds [ransfer Network
3. Bangladesh Emergency Funds Transfer Network
(. Bangladesh Electronic Funds Transfer Network
’D. Bangladesh Epidemic Funds Transfer Network

~ .www.prebd.com

D. 2011

35. Which is the first privatized bank of Bnngladesh'?_’ |
A. National Bank Limited B. Standard Bﬂnkt Limited
C. Uttara Bank Limited D. AB Bank Limited -

36. Contact lenses are made from:
/A. Polystyrene B. Polyvinyl Chloride

C. Teflon D. Lucite

37. A place for sick people who need long periods for

recovery is called:

A. Asylum B. Hospital D. Clinic

38. Which of the following properties of a monitor is
measured in Hertz?
A. Speed

C. Refresh rate

39. In a computer text codes convert letters into
A Graphies B. Binary format
C. Magnetic pulse D. Decimal numbers

40. In MS Word pressing Ctrl + E will:
A. Exit word B. Underline Text
C. Draw table A Center alignment

@. There is 60% increase in an amount in 6 years at simple

C. Sanatorium

B. Resolution-
D. Viewable area

interest. What will be the compound interest of taka 12000 555
after 3 years at the same rate? 1,‘1""
A. 6240 8. 3972 C. 3420 D. 4972 -5
@‘ A system of equations is shown below: \*
XH=6
X-m=35~
. e
What is the value of [+m+p+g?
A B.2 A6 D. s
43, What would be the measure of ‘
‘ re of the perimeter
whose area is equal to 256 sq cm? i SNy

#A. 16 cm B.36 cm C.64 ¢cm D. 256 ¢m “‘

44. In the ‘ = 4 e
i ﬁgu:e, I AB=8, BC=6, AC=10 and CD=9, then c
A. 12 >
B. 11 :
o 13 10

‘pﬁ L AT € 9 D

2
549

2
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SOOIt * b g and ¢, then the value of xy# Iv

A, | 20 o Vabe 13 abwl

$1 The length of the sides of a trinngle are in the ratio of |

to § 10 6 11 the pertmeter of the triangle is 10, what Is the
tength of the longest side?
A 26 (L C. 28 A 30

€2 Mow many *7" will you pass on the way when you count

from | e 1007

A IR D. 21

/h P sells o produet 1o Q and makes a profit of 215%. Q wells

it to R at o loss of 20%. 1R buys it for t'k..l,ﬂ,ﬂ.'mml prive
did P pay for it?
A 2L

S4. A garden of 100 meter
walkway of 2 meter width on

oo LC. 20

1N 1aY C. 140 D, 1w

longth and G0 meter width has o
everyside. What is the area of

the garden, 1 square melers, exgluding the syolkway”
» 5176 B 5576 C. 2556 . 7874
4 S5 Which one s true for the mathematical en[:runlnn [L
l‘i:"““ ﬁ. =\ | \"J AN
T P PP\ S ol ) o
A3 T ¢4 ¢ Dg*
d I'U'
56, 2,tn " 2.m n 2,m+ ziu - Q.
AR n 8" ¢ D. 2%
§7. 40% of 2Q0 Is what percent of 160 7
. A0 4o P80 C. 60 A7 50
S8 What is the value of 'n' {{(8-1) (Ben)=407
A<} M 8 6 C.0 D, 8
i l- .1. .._1.- -
A 59, "r 3: then 743 ;t.t-, %‘, ; :
- B2 C. == D, =
'1 / i i J 1 I

Mr X lost o wallet containing Tk. 120, [neidentally, he
| only notes of Tk.2, Tk. 3 and Tk, & denominations in the
wallet If the total number of notes wig 30, how many ’I‘k.},
denomination notes did he has? |
A 1S B 16 12 20

61. The world leaders are not indifferent .

spreading of Corona virug across the world,

Fill in the blank with an appropriate preposition

sentence from the following:

A of B 1oy . for
';l

62, Choose the correct sentence:

A. What is your pretext for opposing me? ")

3. What i your pretext of opposing me’ g’;}
0

(. What I8 your pretext at opposing me”
74

C. I8
the

for this

(', with

1. What Is your pretext (o opposing me?

03 The' artiele is used before:
A, Ching B. Indonesin

(', Malaysia A Philippines
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69 Fiymology 1s 8 braneh of
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it poem that doss net gnoeed more

siatistics 1 sty
10, Lplgram bs o shi
I-Ill”l'

A, 5% lings-

C iwelve lines

71. Who is the suthor of ‘Pride and Prejudice’”
A June Austen [y ernard Shaw

J John Milton (), Ceorge Orwell

72, Who wrote "Ode to Payche 7
A Lord Byron 15 John F.s-mw
(' Shiakeapenre D, Williarn Wordsworth

(@'l e show this weekend promises 10 attract

than the last one

A i even greater smount of peaple
(8, an ever larger amount of peaple
' an even greater number of people
1. n number of people even larger

74, Man ls stilt e In the labour miarkel
Aglut 13 possitillity € Commodity

7%, islediffieant _
A, Where, o, for

5. Why, with, in

A Why, 10, of

3. When, for, such

76, Choose the correct sentence:

A There fs an affinity two languiges.

11 st adhere with my plan,

(' Ve bs aharmed for any safety.

13, The meeting was sdjourned for o week.

f5. elght lines
1) fourteen lines

1. provision

dispose ____ waste?

The miscreants must be found and tried as this has gone
oyond the usual (hat can happen 0 sehool,
A Shenanigans
1, Wrecknge
C. Vandalism
12, Sabotage

T8, Translate into English: ™1 1« sl (08 drcay’
A Would this news get by him?

15, Wil he have got this news?

C. Will he got this news?

13, Would this news got by lim”

79. 11 the bus 1o the airport hadn't been so late
we  the plane. '
A had caught

, 13, would cate
(', can eateh Wy oo

o A, would have caught
Hhe comparative degree of the word ' 2 \
A. Pretryer I Pretier £, p:,“in:ﬂ“m‘ Jh}', retty
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1.

10.

11.

12.

13.

14.

15.

16.

17.
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18. o @ GiErs ™ 79?
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19. 57 @At et Sargaey
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20.

21.

22.

3.

24.

25,

26.

27,

28.

29,

30.

Translate into English : #T%7 $9 : @41 A7
TS
(i) Look! the water is deep here
{1 Notice! the water is deep there
(¢ The water is deep there
{d} Remember! the water is deep there
The term ACARS is related to :
@ Airplane (v Space Shuttle
(€ Ship ) Bank (3]
Which is the tributary of the river Padma?
(ity Kopotaksha (o) Tangon

(d

(b

(€} Korotoa (@} Punarvaba
Account holder deposit is — for the bank.
(I} an income dv a liability

(€} an asset {3} None of these ®
In which year, International Court of Justice
was established?

@ 1949 (31947 © 1945 ©1943 ©
Who is the President of European Central Bank?
(iy Christine Lagarde & Kristatina

(3 David Malpass @ Von der Leyen (2]
Which of the following is the largest size in
the list?

(@ Gigabyte (v Zettabyte

(€} Petabyte (1) Terabyte
‘Ecolonomy’ is associated with —

(@ environmental economy

(b) green economy

€} ecological economy

(@ blue economy

What is the capital of Hubei province?
iy Wuhan (6} Shiyiahuang

(€} Gulyang (d) Nanning

‘Mujib Year’ has been decided to
celebrated jointly with —.

@ IRCICA {6} UNICEF

(&) UNESCO @ ISESCO

Name of the kobe Bryant's term was —.
(i; Los Angeles Clippers

1 Los Angeles Lakers

(¢} Boston Celtics {1} Chicago Bulls

(b

D]

(b

be

(C

b
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42,

The word ‘Robot’ comes from ‘Robota’ meaning :
(@ Artificial intelligence

(&) Forced labor

(€3 Machine under command

(@) Helping hand (]
Stephen Hawking was Director of research
at the —.

(@) National Aeronautics and Space Administration
(b) National Institute of Standards and Teclnology
() Royal Institute for Theory and Space

(d) Centre for Theoretical Cosmology (d ]
The currency museumn of Bangladesh was
established in the year —.
@ 1997 (B 2008 & 2009 @ 2011 @
The full meaning of “BEFIN" is :

(@) Bangladesh Environmental Funds Transfer Netwark
(b Bangladesh Emergency Funds Transfer Network
(©) Bangladesh Electronic Funds Transfer Network
@) Bangladesh Epidemic Funds Transfer Network (8
Which is the first privatized bank of
Bangladesh?

(@) National Bank Limited
(b) Standard Bank Limited
(€1 Uttara Bank Limited
(@) AB Bank Limited (d ]
Contact lenses are made from :

@) Polystyrene (b Polyvinyl Chloride

©) Teflon {d; Lucite ®
A place for sick people who need long
periods for recovery is called :

@ Asylum by Hospital

(€) Sanatorium > Clinic (C)
Which of the following properties of a
monitor is measured in Hertz?

@ Speed by Resolution

(€) Refresh rate {0 Viewable area [c]
In a computer text codes convert letters into—.
@ Graphics b Bmnary format

(©) Magnetic pulse @ Decimal numbers @
In MS Word pressing Ctrl + E will :

@ Exit word (b Underline Text

(€) Draw table @ Center alignment €)
There is 60% increase in an amount in 6
years at simple interest. What will be the
compound interest of taka 12000 after 3
years at the same rate?

@ 6240 (13972 © 3420 @ 4972 @
A system of equations is show below :
xtl=6:x-m=5x+tp=4x-q=3
What is the value of 1+ m+p+q?

@ 3 ® 2 6 @3

b

43.

44.

46.

47.

48.

49.

53,

What would be the measure of the perimeter
of a square whose area is equal to 256 sq cm?
@ 16cm B 36ecmE 64cm @ 256 cl®
In the figure, if AB=8, bc =6, AC =10 and
CD =9, then AD=7

A

B 6 C 0 D
@12 @11

© 13 @17 @

. Mr. Ronaldo can finish a task in 20 days and

Mr. Messi can do it is 30 days. With help of
Mr. Salah, they did the job is 10 days only.
Then how many days are necessary to
complete the task by Mr. Salah alone?

@ 80 days by 60 days

€} 50 days @ 70 days (b)
Kowshik earns taka 11 for each ticket that
he sells and a bonus of taka 2 per ticket for
each ticket he sells over 100. ITf Kowshik was
paid taka 2400, how many tickets did he sell?

@ 200 hy 180 & 220 @ 250 @
If x = 10, which of the following has the
minimum value?
X 2 o ke

@ 5 B 2% B @%ﬁ{%@
When 4 is added tu%uf a number, the result
is 14. What is the number?

@ 20 21 ©27 @35 @

The difference of two numbers is 11 and one-
fifth of their sum is 9. Find the numbers.
@ 28 and 16 Ip 28 and 17
€} 28 and 18 iy 28 and 19

(b

. Ifa*=b,b" = c and ¢’ = a, then value of xyz is?

@ -1 1 () abd

e L
© abce b

. The length of the sides of a triangle are in

the ratio of 3 to S to 6. If the perimeter of the
triangle is 70, what is the length of the
longest side?

(d_

g

@) 26 B35 €25 W@ 30

. How many “7” will you pass on the way

when you count from 1 to 1007

@ 18 ®19  ©20 @21 O
P sells a product to Q and makes a profit of
25%. Q sells it to R at a loss of 20%. If R buys
it for Tk. 140, what price did P pay for it?

@ 211 169 © 140 @139 @
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54.

55.

56.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

A garden of 100 meter length and 60 meter
width has a walkway of 2 meter width on
every side. What is the area of the garden, in
square meters, excluding the walkway?

@ 5376 (5576 © 2556 @ 7874 ©

Which one is true for the mathematical
n n-1
. 2°+2 5
expression —2’” T_5
T 3 e o 7w 30
@ 5 B3 ©1 @ 2
2% 4+2% 4+ 2% 4 2% =2

. 40% of 200 is what percent of 1607?

@ 20 &80 & 60 @50 @
What is the value of ‘'n’if(8—3)(8—n) =407
@) -3 8 0 S

1 1
If == 3 —then R

y "z y+2z

s . o -

st iy = e T £y —
(Eilj 16 ,_]'_':I/ 7 \[;.f’ 11 \C_D ].6 @
Mr. X lost a wallet containing Tk. 120.

Incidentally, he had only notes of Tk. 2, Tk.
3 and Tk. 5 denominations in the wallet. If
the total number of notes was 30, how many
TK. 5 denomination notes did he has?
@ 15 16 @18 @ 20
The world leaders are not indifferent — the
spreading of Corona Virus across the world.
Fill in the blank with an appropriate
preposition for this sentence firom the following :
@) of (b} to €} with @ for @
Choose the correct sentence :

(@) What is your pretext for opposing me?
(i) What is your pretext of opposing me?
(€) What is your pretext at opposing me?
(d) What is your pretext to opposing me?
"The' article is used before:

(@) China (b Indonesia

(©) Malaysia {0} Philippines
Antonym of the word 'resolute’ is :

(@) persevering b steadfast

(©) unyielding (@ vacillating (d ]
The question tag of 'Let's go out for a walk' is :
(@) Shall we? {b; Shan't we?
©) Let we? @ Let not we? (]
He refused to attend the meeting — his illness.
@ on part of ‘b on point of
(©) on the ground of (> with a view to (C)
What is the meaning of the phrase 'carry the day'?
@ busy all day I free all day

(©) win > loss (C)

(2

(d

68.

69.

70.

71.

72.

73.

74.

76.

77

78.

79.

80.

The word 'urbane' is related to;

@ City life ‘b manners

) village life @ slum dwellers
Etymology is a branch of :

@} Economics dw linguistics

(€} statistics (> history b
Epigram is a short poem that does not
exceed more than :

(&) six lines (b eight lines

(€} twelve lines {d; fourteen lines (0]
Who is the author of 'Pride and Prejudice'?
@} Jane Austen I» Bemard Shaw
¢} John Milton ‘) George Orwell (]
Who wrote “Ode to Psyche”?

(it} Lord Byron b John Keats

(¢} Shakespeare @ William Wordsworth )
The show this weekend promises to attract
—than the last one.

@} an even greater amount of people

(&) an ever larger amount of people

(¢} an even greater number of people

{d} a number of people even larger

Man is still a—in the labour market.
@ glut (v possibility

3 Commodity d) provision

©

®

. —is it difficult — dispose — waste?

@) Where, to, for (b} Why, with, in
&} Why, to, of ‘&> When, for, such
Choose the correct sentence :

(@) There is an affinity two languages.

(b I still adhere with my plan.

(¢} He is alarmed for any safety.

(@ The meeting was adjourned for a week. @)
The miscreants must be found and tried as
this has gone beyond the usual — that can
happen in school.

@) Shenanigans (b Wreckage

(¢} Vandalism (@ Sabotage @
Translate into English : ‘&7 & @ {3061 Ry IRR’?
@} Would this news get by him?

(b Will he have got this news?

(€) Will he got this news?

(@) Would this news got by him? ®
If the bus to the airport hadn't been so late,
we — the plane.
(i) had caught
(€} can catch

©

b would catch
@@ would have caught €)

The comparative degree of the word
"Prettiest’ is :

(@) Prettyer (b} Pretier

() Prettier (@ Pretty (c]
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34, Translate into English: =57 ¥ ity «ifra sr8teer s |
#. Look! The water is deep here. ¥ Notice! The water is deep there,

s1. The water is deep there. €. Remember! The water is deep there. 5. %
S, TEMeE, ¥ T FTa T e

-, WEH %, I *f, WEG 9. 98 B. o +BT: 0o
o, s e cifers == =z

%, (S . ST . T W, ¥ B o *B1: b
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3%, The term ACARS is related to:

@. Airplane 4. Space Shuttle . Ship 9, Bank A
33, Which is the tributary of the river Padma?

#. Kopotaksha <. Tangon 1. Korotoa 9, Punarvaba B.w
20, Account holder deposit is ... for the bank.

= anincome ¥ aliability *f, an asset 9, None of these &«
38. In which year, International Court of Justice was established?

= 1949 ¥, 1947 1. 1945 9, 1943 B9

a¢., Who is the President of European Central Bank?
#. Christine Lagarde % Kristalina *. David Malpass 9. Von der Leyen & %
3. Which of the following is the largest size in the list?

# Gigabyte ¥ Zettabyte . Petabyte 9. Terabyte LA
24. “‘Ecolonomy’ is associated with.........

=, environmental economy W, green economy

*, ecological economy %, blue economy 1B |
ar. What is the capital of Hubei province? www._prebd.com

#%. Wuhan ¥, Shijiazhuang  *. Guiyang . Nanning B«
a», *‘Mujib Year® has been decided to be celebrated jointly with.........

= IRCICA %. UNICEF . UNESCO 9. ISESCO B 9
o, Name of the Kobe Bryant’s team was.......

#. Los Angeles Clippers <. Los Angeles Lakers

1. Boston Celtics %, Chicago Bulls B
@3, The word *Robot’ comes from *Robota’ meaning?

#. Antificial intelligence . Forced labor

1. Machine under command . Helping hand =

o3, Stephen Hawking was director of research at the ........
@. National Aeronautics and Space Administration
+, National Institute of Standards and Technology
1. Royal Institute for Theory and Space

w. Centre for Theoretical Cosmology 8.9
@8, The currency museum of Bangladesh was established in the year...........
= 1997 %, 2008 s1. 2009 W, 2011 €.

o8, The full meaning of *BEFTN" is
@, Bangladesh Environmental Funds Transfer Network.
<, Bangladesh Emergency Funds Transfer Network.
si. Bangladesh Electronic Funds Transfer Network.

9, Bangladesh Epidemic Funds Transfer Network. €
o, Which is the first privatized bank of Bangladesh?

=, National Bank Limited ¥, Standard Bank Limited

. Uttara Bank Linuted %, AB Bank Limited .9

e Mo 3-00 Gt 6 Tule - R Wl fefie e - “saqe i sl
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Contact lenses are made from: - |
#. Polystyrene #. Polyvinyl Chloride *. Teflon 9. Lucite LA
A place for sick people who need long periods for recovery is called:
#. Asylum <. Hospital . Sanatorium %, Clinic T
Which of the following properties of a monitor is measured in Hertz?
@ Speed 4. Resolution 9. Refresh rate  W. Viewable area &. 9
In a computer text codes convert letters into........
. Graphics  «. Binary format . Magnetic pulse ¥. Decimal Numbers &.
In MS Word pressing Ctrl + E will:
@, Exit word ¥ Underline Text 9. Draw table W, Center Alignment 8, ©
There is 60% increase in an amount in 6 vears at simple interest. What will be the
compound interest of taka 12000 after 3 years at the same rate? www.prebd.com

=, 6240 ¥, 3972 7. 3420 ¥ 4972 |
A system of equations is shown below:

x+1=6

X=m=35

X+p=4

x—q=3

What is the value of | + m+ p + q?

%3 . 2 1. 6 w5 5.9

What would be the measure of the perimeter of a square whose area is equal to 256 sq
cm?

% l6cm 4. 36 cm s, 64 cm %. 256 cm .o
In the figure, if AB=8, BC =6, AC=10 and CD =9, then AD=7?

% |2 A

% 11

. 13

.17 8 10

B9

B 6 Cc 9 D

Mr. R can finish a Task in 20 days and Mr. M can do in 30 days. With help of Mr. Salah,
they did the job in 10 days only. Then how many days are necessary to complete the task
by Mr. Salah?

. 80 days 4. 60 days . 50 days %. 70 days A

Kowshik earns take 11 for each ticket that he sells and a bonus of taka 2 per ticket for
each ticket he sells Over 100. Kowshik was paid take 2400,how many ticket did he sell?

=, 200 ¥ 180 1, 220 w. 250 @
If x =10 which of the following has the minimum value?
= %2 o 2-x T, 2% 9.(2-x)(2-x) ©.«

|
When 4 is added to 5 of a number, the result is 14. What is the number?

& 20 ¥, 2] s, 27 ¥, 35 W
The difference of two numbers is 11 and one-fifth of their sum is 9 Find the numbers.
F 28and 16 <. 28and 17 si. 28 and 18 9 28 and 19 B
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If a*= b, b’ = ¢ and ¢’ = a; then the value of xyz is:

L | v 1 s. 1/abc 9, abd A |

The length of the sides of a triangle are in the ratio of 3 to 5 to 6. If the perimeter of the
triangle is 70, what is the length of the longest side?

@ 26 ¥ 35 €. 25 930 B
How many “7" will you pass on the way when yvou count from 1 to 1007
= I8 4119 . 20 9. 21 G, o

. P sells a product to Q and makes a profit of 25%. Q sells it to R at a loss of 20%. If R

buys it for Tk. 140, what price did P pay for it?
@ 211 % 169 5. 140 9. 139 T.o

@8. A garden of 100 meter length and 60 meter width has a walkway of 2 meter width on
every side. What is the area of the garden, in square meters, excluding the walkway?
% 5376 4. 5576 . 2556 9. 7874 e
2l+ ln-l
@¢¢. Which one is true for the mathematical expression T2 F
2
m% 3 o, 1 y. 2% T®
@, 20 +2" +2M + 2=
= 8'% ¥ 8% o, 2% v, 2% B of
2¢9. 40% of 200 is what percent of 1607
= 20 . 80 . 60 9. 50 L |
¢tr. What is the value of *n" if (8 = 3) (8 — n) =407
=, -3 4.8 1.0 9. -5 B
“-1_31 h =2
Qh. -“I_ It‘.‘“}._'_z_;
7 2 2 2
16 %5 '~‘L” %16 ¥
o, Mr. X lost a wallet containing Tk. 120, Incidentally, he had only notes of Tk. 2, Tk. 3 and

b,

Tk. 5 denominations in the wallet. If the total number of notes was 30, how many Tk. 5
denomination notes did he has? www_prebd.com

@ 15 4 16 . 18 920 B

The world leaders are not indifferent........... the spreading of Corona virus across the
world., Fill in the blank with an appropriate preposition for this sentence from the
following,

@, of 4. to *f. with 9. for LA |

. Choose the correct sentence:

. What is your pretext for opposing me?

%. What 1s your pretext of opposing me?

. What is your pretext at opposing me?

w. What is your pretext to opposing me? Bw

. “The" article is used before:

@, China ¥, Indonesia 1. Malaysia . Philippines B.w

. Antonym of the word ‘resolute’ is

@, persevering 9. steadfast iI. unyielding . vacillating B9



3 =WHE Recent Job Solution
u¢. The question tag of *Let’s go out for a walk’ is
#. Shall we? <. Shan’twe?  *. Let we? 9. Let not we? =
s, He refused to attend the meeting........ his illness.
. onpartofl < onpointof . onthe ground of 9. witha view to  &. %
9. What is the meaning of the phrase ‘carry the day’?

#. busy all day #. freeallday 5. win w. loss A
. The word "urbane’ is related to:

=. city life <. manners o village life % slum dwellers %. ¥
e, Etymology is a branch of

@, Economics % linguistics o1, statistics . history T

9o, Epigram is a short poem that does not exceed more than:
=, six lines <, eight lines . twelve lines 9. fourteen lines ©. @
9%. Who is the author of *Pride and Prejudice’?
=, Jane Austen . Bernard Shaw 4. John Milton 9. George Orwell B %
93, Who wrote “Ode to Psyche™?
#. Lord Byron <. John Keats  +. Shakespeare % William Wordsworth €. «
99, The show this weekend promises to attract................. than the last one.
#. an even greater amount of people www.prebd.com
. an ever larger amount of people
1, an even greater number of people

w. a number of people even larger oo
98. Man is still a ... in the labour market

= glut . possibility o, Commodity % provision =
. sonsrsssnssssnsnses 18 it difficult ........ dispose.......... waste?

=, Where, to, for %, Why, with, in

sI, why, to, of 9. When, for, such 9

q&. Choose the correct sentence:
#. There is an affinity two language
. I still adhere with my plan.
. He is alarmed for any safety.

4. The meeting was adjourned for a week. T.v

99. The miscreants must be found and tried as this has gone beyond the usual.......... that can
happen in school.
@, Shenanigans «. Wreckage f. Vandalism % Sabotage B

qv. Translate into English: ‘&1 f& @ <@t cefon dreay
#. Would this news get by him?  #, Will he have got this news?

si. Will he got this news? w. Would this news got by him? B
9. If the bus to the airport hadn’t been so late, we ..o the plane.
#. had caught <. would catch . can catch % would have caught & w
vo. The comparative degree of the word *Prettiest” is:
= Prettyer 9. Pretier s, Prettier W, Pretty L
g ex fafias fffimfa @ oy S aufers o w=ee 1g-
So o fafFas Fer +¢ wfow ¢ F=fde
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